
©5 U2p0F1e3F EKRuFtUan nSXoTf9tvwba3rme0 8L2LDCi.o u sAAlCl3 orKi0gVhWt7sg PrWeUsxeQruv8eBdq.z p sMIaLdDe2 Iwuiutehk JIon9fjiknOiztveR oGqepo4moeAtMrfyN.h Worksheet by Kuta Software LLC

0520 Geometry Name___________________________________

  Period____Date________________
©c B2H0G123L BKTuttlaI PSSoLfbtOw7aPrye1 sL3LpCv.f X HALlUlA 3rYiVglhmtEsi urYe0sreyr5vpeEdC.w

Writing an equation given a point and the slope

Write the slope-intercept form of the equation of the line through the given point with the given slope.

1)  through: (3, −5),   slope = −2 2)  through: (−4, −5),   slope = 2

3)  through: (−4, 0),   slope = 

 

1

4

4)  through: (1, 5),   slope = −3

5)  through: (−2, 0),   slope = 0
6)  through: (−5, −1),   slope = 

 

3

5

7)  through: (4, 3),   slope = 1 8)  through: (−4, 1),   slope = −1

9)  through: (−4, 4),   slope = 

 

−
7

8
10)  through: (−5, 0),   slope = 

 

−
3

2
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11)  through: (−4, −1),   slope = 

 

5

4

12)  through: (1, 5),   slope = 3

13)  through: (−3, −1),   slope = 

 

4

3
14)  through: (5, −5),   slope = 

 

−
9

5

15)  through: (−5, −5),   slope = 0 16)  through: (1, 1),   slope = −3

17)  through: (5, 5),   slope = 

 

6

5
18)  through: (5, 1),   slope = 

 

2

9

19)  through: (3, −4),   slope = −2
20)  through: (−5, 3),   slope = 

 

−
7

6
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